O ZHEKERER (NDMRB R71) B mm
iR RHEITIE RAITIE
210 | 50~ 100 > 150 ~ 200 ~ 250 ~ 300 300
215 | 50~ 100 ~ 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 ~ 450 ~ 500 500
220 | 50100 - 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 * 450 ~ 500 800
@25 |50~ 100 - 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 - 450 ~ 500 ~ 550 ~ 600 800
@32 |50~ 100 - 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 - 450 ~ 500 ~ 550 - 600 800
240 | 50~ 100 - 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 - 450 ~ 500 ~ 550 ~ 600 800
O 8z
EE HE  (mm) 10 \ 15 20 25 32 40
fEEIZEC BN FEL
fEFRRE =R
- 15~45 15~6
ERE Kgflcm? (Kpa) | (150 ~450) (150 ~600)
=AERED Kgf/lcm? (Kpa) 5.0 (500) 6.5 (650)
fEFRREEE °C 0~60
fEREEEE mm/sec 50 ~ 500
eI o BE#HiE7ERX
A& EENE M5 PT1/8" PT1/4"
EEEE BBEE | RERAEE
O ETREFERFAXSR
(novre )-(C R ) (10 H)x( s0
l l
J [mAmE | [ RARE | [ maa®
l l l
© NDVRB: #{8{HEEREL 10 - @10 @10 - 50 ~ 300
(EEEE) 15 — @15 @15 - 50 ~ 500 :
20 — @20 @20 — 50 ~ 800 e (NDCS-98)
25 _ @25 225 _ 50 ~ 800 1 sn
32 _ @32 @32 - 50 ~ 800 i ol
40 — @40 @40 — 50 ~ 800

DS AR EHRIAUMNE « A 0 BT @ O/MLE

[R] 5285 : # - HRIAEHRMIFGN - MEFTR O @ MLE
R8O ~ HEIALEPRMMNALR BT OO ME

1-4.9

2 2

FImm i

| SwsseN | BR-98 | ERESE | ERAEE | EEOSE |



C AERHEIEE

T
4
w)
2
vy
M
T
£
|
H
T
qm
10
=

C THBIERMEIER

i 5 =f= HE | &% == HE | ER ef= " H
01 PN wE2 11 TEERSERRA 2] 21 BRMEOIER i i 2
02 Vi #HE2 12 TREERLEH AL 22 EEER [npeili=
03 AR wE2 13 ARSHERER A 2] 23 L)ZPEL i i 2
04 PRRAR i 14 ABERsH HIH 24 EERR [impiili
05 M$EEHR simAE 15 i EEIR A 25 BRIEEERM A2
06 BB 2838 16 iEEst R 26 CEUMIR AEif
07 PEE-3 wER 17 BEHAE k] 27 $RER T %
08 BRME e 18 T ERSE HLH
09 T T 19 k& O BIIR it A2
10 TREEEAER TEEH 20 iEELO Blig it H A2

O BRROEIRZTHR

E B EEE B FRIEE EFHORE

ALE mm Lo 2 2 2
210 PPY-10 PDU-11%x16.7 22.8 x 31.9
215 DYP-15 PDU-17x22.4 210 x @1.5

220 DYP-20 PDU-21x28.3 -

225 PPY-25 PDU-26%34.4 -

232 PPY-32 PDU-33.2x45.4 -

240 PPY-40 PDU-41.3%x51 -

L ZxnBpmBas 2 RRE0R(SE RLERESHRR) -

1-4.10




NDMRB=5- #iEtmEnm

CEmiNE B kgf
, ZERES (kgficm?)
irl IR B E ZEEE
— om? 1 2 3 4 6 7
10 He 1.5 — 1.6 2.4 3.2 4 4.7 55
15 H 1.76 — 3 5 7 8 10 12
20 HE 3.14 — 6 9 12 15 18 21
25 HE 4.90 — 9 14 19 24 29 34
32 HE 8.04 - 16 24 32 40 48 55
40 HE 12.5 — 25 37 50 62 75 87

LO s MEEARREYE ; ERIRAE » B EEEE N R R E RN E o (95 70% ~ 80% ) ©

C A HERNFE

© REFEH

R#EHEM

C BRI NERESH

R#ESM

© BEFH%E

i & aIRAEH BFmRANE
(mm) W (kgf) Mp (kgf-m)
@10 0.4 0.2
@15 1.0 1.18
@20 1.1 2.45
@25 1.2 3.92
@32 1.5 8.83
@40 2.0 13.7

M1 =Fp-er1
. —Fp
|
o IR i}
4 | 4

C R#HEITIZHIRE

BABH N)

1-4.11

2.0

0.5

~N
310 \ ]
— |
21 220
300 500 750 1000

RELITRZ (mm)

I 2 il

FImm i

| swazen | mp-os| eres | smews | seeaws |



=NDMRB#- siEtmsm =
C BEFERX
o X TEAN o EHEH
aEa
REEHE (W)
(BEEEE +
| BHMER-E)
t——————3 (EE2E) &8 | | 7
| )
N | !
) ) | |
ity Il o=l | |
HER!
RARS W
(0.1~0.2mm) R
(0.1~02mm)
VANPES=

RILZBENRLE » EETHMEMERSE - RIEBTEE
HEBEBEEH  SRRIIEEHREEHTR -

1-4.12



=ND MRB-=- siEt®mems

C NDMRB 10 x[__|ST

17.5 9, 20

NDMRBI x ST
4-M3x0.5Px4dp 35 7
(REAL) 4-M4x0.7P
-M4x0.
qL & & — 7717,/ @FA)
3 H i —F
Q | —— ol [ £y
I —[ N | ® -
s 48 Bom
0 T +
< 175 _| !

SECTION A-A’'
2M5x0.8P 12 15 38 4-M3x0.5Px4dp 4
(& ~ HRA) 4 4 9 20 | (B=AfL) 12 2:M5x0.8P
- = rT A (G~ i)
5
:'[ 21_“’ 5 > Ll s
o @ -ty ———o s __ | — 1 4
i N4 2
v I
r@rul ; Dl
05 L—A' 15.25
15.25 1712 +76 |
245

C NDMRB15x [_|ST

NDMRB 1 x ST
4-M5x0.8P
4-M4x0.7Px5dp 45 ( @gE}LfM.)
(BEEALAL)
] btz
» - ‘DT N — =
Q| <
b -—
19
|
SECTION A-A'
%—M5x0.8F’ 15_. 9 15 53 5
G~ ) [ —f1 5. 14_ . 25 _ ‘ 4-M4x0.7Px5dp A 9 15 ?-MSX&SP
1 { (BER) 4y G )
| ER &
= © ~
E ¢ g f |1 - =1 2 g O Q
N @- S
[ShrT@m
i} L
30.5 1742 +94
32

1-4.13

Ml

I 2 il

P 2

| swazen | mp-os| eres | smews | seeaws |



=NDMRB#7- siEtmsmm =

© NDMRB20 x[__]ST

NDMRB O x1ST
4-M6x1.0p
4-M4x0.7Px5dp o .

(BEEAD) m
EB A
=

38

Il
;
4-29.5
wos2]

SECTION A-A"

2-PT 1/8"
& A N

17.5_.105 62 . 2o
40 4-M4x0.7Px5dp .\ B
(BIFEFLLL) ‘

~
'QF ' b : N I —:@N @O{é

|
| § i
p 17%2 +107 ‘
39

N

o

f
N

105

20

A
@
2

20

47.5

17
!
T
I
|
i
I
I
|
|
I
|
I

© NDMRB25 x[_JST

NDMRB [0 x ST
4-M6x1.0P
4-M5x0.8Px6dp o5 e

(EE7LE) 55 .‘

& —
41 T+ < —m
2 B . ——— s | | ol « s 4
D v
g 8
e 4 T
215 15 40 ‘ 0 215
©
SECTION A-A'
2-PT 1/8
(G ~ HiFAL) 6 2-PT 1/8
22 9.5 2 70 4-M5x0.8Px6dp —T (G ~ HEAL)
o 6 |18 40 \ B 14 95 _ 2
@ @
< A A/ ) :
‘BEE & < & | &
(Y o~ o~
§ O@} 0 8-*-—-—-—-—-—--$§ N e © O
Tl e e o
i i i
i L4
42 1782 +117 |
44

1-4.14



=ND MRB-=- siEt®mems

© NDMRB 32 x[__|ST

NDMRB [ x ST

4-M8x1.25P
4-M6x1.0Px7dp 6.5 10

(BEEALL) -

&
*
i
|

54

|
|
|

1

|

|

|

1

!

t
35
52

!

|

|

|

|

1

4-011
4-06.8
NN

2 13 50 o 2 i T
SECTION A-A'
2PT 18"
(&~ HEF) 7 2-PT 1/8
25 _ 14 76 4-M6x1.0Px7dp AT
ot 7. 3|13 50 / (BEEAM) 74 14 25
\

o
=]

/
28
27
14
©
o
4
)
s\
14
28
I__.

© |
. A8 _ I8 ST —

555
(@]

@
63.5

LB o

—
!

26
62.5

A

f
kT
-

525 742 +130

© NDMRB40 x[__|ST
NDMRB[*x ST

4-M8x1.25P
4-M6%1.0Px7dp 65 10
(BEFLLL)

36

66

41
4-06.8
\i\

SECTION A-A’
2-PT 1/4”
G A 7 2-PT 1/4"
i S0 0 (&~ B
1 7 3, A5 60 4-M6x1.0Px7dp LA 17 30
| -1 B @EAR [
{ w
IR |y
o Y
9| @O s — o B0 B
F P RE
©
ft
I -
64 782+148 |
67

1-4.15

Ml

I 2 il

P 2

| swazen | mp-os| eres | smews | seeaws |



(V]
3

N D MRB#5- #i@E=tmigmi

fEER I B

C BE=S T EEiE
© NDCS-9D(B)
R feRiE
o7 p— BT
==0 = r
? ‘,
\\ | I {
)
]
A # &
BERE (C)
|
BEE (R)_||BfestE (F)| BEER)
L smmzom
] NDCS-9D(B) NDCS-8G
SELRITE | EbfFEE(F) | BEZ(R) | EhFEEE (F) | BFEZ(R)
210 8 1 10 1
215 8 1 10 1
220 8 1 10 1
225 11 15 13 15
@32 11 15 13 1.5
240 11 15 13 15

O AR

1-4.16

O FEELE

BESREEN AR L - BEEREHM
R RAERRES - RORLSRIERER
RAEN(E 2 8EE ; MiAHEARREZ EE
%95 0.5 mm EHZRE °

[

C EfFEtE
EREFAZENEE - BUSHERRRZ
EEEEEE - HElEFARRZR

TEERAEE 2 BEKIE o
(GEE2RAREE) -
B (+)
B (+) Z(-)

NDCS-9D NDCS-9B

{FFHERE : DC 4 ~ 120V
AC 4 ~ 120V



